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6 Ostwaldcolours (o)

of maximum (m) C,g in

linear colour space Cag, Y)  15g

llumin. D65, Y,,=100 Y, =10 - ---==

Name Range X, Y, Z, Yo M A

R, 567775 63.21 44.18 11.04 05337 0373 596 489

Y, 493775 78.93 94.84 17.06 0.4135 0.4969 570 463

G, 493 567 25.32 60.76 17.02 0.2455 0.5892 535 535¢

C, 380567 4144 65.92 108.850.1916 0.3048 489 596 Parameter:
B, 380_493 25.71 15.26 1028301788 01061463 570 Y & Name
M, 567_493 79.33 49.34 102687 0.3426 02131 5350535 .
567
W) 380_775 95,04 1000 108,89 0.3127 0.329  100% lluminant D65
N, 380_77595 100 1088 03127 0320 10% Y,=10Q Y, =10

7,380 775171 180 196 031270329 18%
BEN70-1A




